|B#T{E P ot R &=

IBEERT xR
No. (IM)=F £ (FE b | #H F £ oE &
1 |EFEHET °F #hEdk  [1FhD2 RpR—TH |85%Fih
2 |FFHHE] = fEdt |9t RHPR—TH [82%ifs
3 |FrHMT = B4k [10FEHD3  |FRAPR—TH [83FiHh
4 |5 HET F #hEdk  |[12% RHPR—TH [77HMHMD2
5 |FPHET F #Ed  |13F#hoD  |FhR—TH [88Fih
6 |ETEHET °F #Edk |13%Ft RHPR—TH [77HMHMD2
7 |5FHAT F #Ed  [13F#D7  |EHR—TH |75FHDI
8 |BPHET F #iEd  |[13F#D7  |HPR—TH |77FHD?2
9 |FFHET F #nad [14%Fi RhR—TH [77&#D2
10 |EFHHET FF fiiEdt  |[14FEH@DI5 |EPR—TH |90FH
11 |5PHET F #Edk  [16F#D3  |EhR—TH [73FHDI
12 |57HET = #i8dk  [23FH#D1 | R—TH [81FH
13 |EFHAT 7 #iEdt |24%FH RPR—TH |79%ih
14 |¥7EHET F FIE 4FEH D2 RPR—TH |8&EH#®D2
15 |EFHHET F & 4T D6 RPR—TH [7#&#M
16 |¥7EHET °F FiIE 4FEH DT RphR—TH |5%&i#h
17 |57HET F &2/%  [5HHDS BHPR—TH |83zt
18 |¥PEHET 7 &2/%  |5&FEMDI10 B R—TH |[82%ih
19 |¥7EHET F &2/5% |5FEMDI12  |BhR—TH |[84%ith
20 |EPERET FF #2/8%%  |5BEHDI3  |EhR—TH [85%FH
21 |EFHET F RIEAT |78 HD3 FHRMTH |6&#hD6
22 |EFEET = RIEAT  |8%ih FPRMTH |6&#D3
23 |EFHET F KiE 5F D1 BPRA—TH |2BH#D2
24 |EFHET F RIE 5EH D1 FPR—TH [2&HODI
25 |EFEET F RiE 5& D2 BPARA—TH |4F#
26 |EFHET F RIE 5& D4 MER—TH |[15EH#
27 |EFHET F RiE 5& D5 EPARA—TH |3%Fi
28 |EFHET F RIE 1%t MHPR—TH |5&EH
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
29 |ErHET F RiE 12801 [P R—TH |[7&F#
30 |EFHAT F RiE 13BMD1 [P R—TH [8&FMODI
31 |EHET F RiE 13Z88MD5 [P R—TH |[36%Fi
32 |EFHAT F RiE 138D5 | R—TH [11FEHD1
33 |ErHHET F RiE 1526 |FPR—TH |[12%FiH
34 |EFHHET F RiE 158D |FPR—TH [18%ih
35 |FFHET FF RIE 152812 |FPR—TH [17FH
36 |EFHAT F RiE 16/D1  |FPR—TH [10%#Hh
37 |5 HET F RiE 16281 |FHPR—TH |14FMOD1
38 |EFHAT F RiE 16|/MD3  |FPR—TH |[165Hh
39 |ErHET F RiE 1628MD5 [P R—TH |[13%&iHh
40 |EFHHET F RiE 178 D6 [P R—TH [328HD1
41 |FFHHET F RiE 23 ih MHPR—TH |31
42 |EFHHET F RiE 25% ih FHPR—TH |30%ith
43 |FPHET F A  [16FMHD1  |BFR—TH |53%ih
44 |FFHET F AR  |[16FHD1  |EhR—TH |54Fih
45 |BFHET F AAW  |17FH BHPR—TH |56%MD2
46 |FPHIET &7 RAM 15 MHPR—TH |79%#DI
47 |FPHET &7 A (15 MPR—TH |7198#D7
48 |FPHIMT &7 BRAM [1&F;HD2 MHPR—TH |79%#DI
49 |5PHHAT 7 RAM  |[1BHD6 MPR—TH |64%Fih
50 |S7HHHET 7 RAH |1 D6 FPR—TH |78%ith
51 |BFHET = Rt  [1F/#DI0  |RhR—TH |81%FiHh
52 |¥PHHMT F RAH [1FHDI18  |HPR—TH [2Fi#
53 |EFHMT 7 M  [3FHD2 MPR—TH |76%ih
54 |$rHIFT &F A [4%Hh RAR—TH [13&FEMOD1
55 |EPHHET F FAEG 1O RPR—TH [3%FM
56 |EFHHET F FEHA  |[1FEMD2 RHPR—TH [9%F#Mh
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|B#T{E Pt R =

[BEERT xR

No. (IM)=F £ (FE b | #H F £ oE &
57 |EFEHMET F FEAS  |1FHOD3 RhR—TH |6%FiHh

58 |EPHHET =¥ FRHA  [2FHh RAR—TH [156&#M®D2
59 |EPHHET F FEEAR  [2FHIOD1 RPhR—TH [15F#®D2
60 |FFHET T FK/A |1FHD3 RPR—TH |56%FMHD1
61 |EFHET F FK/A_[5BEHD1 RPR—TH |[19%ih
62 |FFEHET F FK/A |5FEHDS RPR—TH |20%i
63 |EFHET F FK/A|5FEHDE RPR—TH |22%ith
64 |FFEHET F FK/A |6FHD3 RPR—TH |21%F#
65 |EFHET F FK/A_|6F/HDS5 RPR—TH |18t
66 |FFHET F FK/A |6FHD7T RPR—TH |[178&H#
67 |EFHET F FK/A_|6FHDS RHPR—TH [28FHD1
68 |FFHET F FK/A |6FEHDI RPR—TH |28FMD1
69 |FrHET F FAK/N |11BHD1  |FEhR—TH [23BHD1
70 |EFHET F FK/A [11F D4 |RBPE—TH |25%Fith
71 |ErEHET F FK/N |14 RHPR—TH [54FHD1
72 |EFHET F FK/A |[15FMHD4  |RERBPE—TH |55%Fith
73 |27 HET °F FK/N |16FHD1  |EpR—TH |[57FiH
74 |EPHET °F JFK/N |18 RPR—TH |59%ith
75 |27 HET °F FK/N |23FD1  |EpR—TH [30Fih
76 |EPHHET °F JFK/N |24 RPR—TH |47%
77 |57 HET °F FK/N |24FD1  |EpR—TH [45Fih
78 |EPHHET °F JFK/N |26 RPR—TH |61%h
79 |ErHET F JFK/N |26 RPR—TH |49%ih
80 |FFHMET = K/ [26% i RPR—TH |60%ith
81 |BFHET F HK/A [31F/HD2  |RhR—TH |64Fth
82 |PFHHET F FK/A |31FEMD4  |HEPE—TH |65Fih
83 |PPHET 5 JEK/N [32F D3 |RPR—TH |70Fi#
84 |BFHHET °F FK/A |34FHD1  |RPR—TH |42Fith
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|B#T{E Pt R =

[BEERT xR
No. (IM)=F £ (FE b | #H F £ oE &
85 |PPHET 5 JEK/N [34FE D2 |RPR—TH [39FiH
86 |FFHMET = JHK/A [35%F i RPR—TH |40%ith
87 |P7HET 5 jEK/N [35FEMMDT  |RPR—TH [34Fi#
88 |EFHHET F ;FK/MA |35FEMD1  |RPR—TH |37Fih
89 |EAXEF FF THMH 4% HPR_-TH |25%ih
90 |H#EXE F THMh  |5FEM®DI RARZTH [19%i#
91 |EXRE F TAM  [6FHDI1 RHER-TH |9FiHh
92 |EAE F TAM |75FEHM RPR-TH |20%FiH
93 |#EARE F T  [8FithdD4 HPR_-TH |17%H#
94 |HEXE F THMh |8FEMOD5 RARZTH [156F#M®D2
95 |#EARE F THMH  |9FH#D2 HPR_-TH |74%ih
96 |EAE F THH# [10FH RPRZTH |72%#
97 |EXRE F TAM  [13FHDI HPR_-TH |78%ih
98 |#EAE F THH#M |16FMD2 |HPR-TH |[53Fith
99 |EXRE F T  |[16FMHD3 HPR_TH |58%ih
100 |#EARE F THHh  |[16FHMD4  |HPR-TH |55%Fih
101 |#EAE F TA# |16FHD5  |HPR_-TH [56%Fih
102 |#EARE F THH  |[16FMHMD6  |HPR_TH |57Fi
103|#EAE F TA# |16BFHD7  |HPR_-TH [61FiH
104 |H#EARE F T |[16FMHMDI  |HPL-TH |60Fih
105 |#E KRS = T&# |[16FD10 |HPRZTH [37FiMh
106 |HEAE = TAM |[16FMDI1 |HPR-TH [38FiH
107 |#EAREF = TH# |[16FD13 |HPRZTH [40Fih
108 |#EARE F THHh  |[16FHD14 |HPR-TH |41Fih
109 |#EAREF = TH# |[16FD15 |HPRZTH [42Fih
HO|EAE = TAM |[16FMDI16 |[HPR-TH [43FH
1 |EXRE = THA#M  |[16FD18 |HPR-ZTH [50%Fih
H2|EAS F TaM  |[16FMD20 |FHPR-TH [52FH
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|B#T{E Pt R =

[BEERT xR

No. (IM)=F £ (FE b | #H F £ oE &
H3|HEAE F TAM |16BFHD21 |HPR_-TH [47FH
H4|EAS F TAM |[16FMD22 |HHPR-TH [48FiH
NS |HEAE F TAM |[168BHD24 |HPR_-TH [44Fih
16 |#EARE F THM  |[16FHD25 |HPRZTH |45%Fih
N7|#EARE F TH#M |16FHD26 |HPR_-TH [46%Fih
M8 |HEARE F THMh |[18FMD3  |HPR=TH |22Fith
HI|EARE F THA# |[18FMD3 |HPR=TH [23Fih
120 |#EKEF 7 T&H#  |19%h RPRZTH |59%ith
121 |#EAE F TA# |[21FHD4  |HPR_-TH [68Fih
122 |H#EKRE F THH  [21FHD6  |EPR-TH |63Fih
123|#EAE F TA# |[21FHD6  |HPR_-TH [64Fih
124 |HEXRE F THM  |21FMD9  |FHPRZTH |67Fih
125 | AE F TA# |[21FHD10 |HPR_-TH [66%Fih
126 |H#EARE F THH  [21FHO1 |HPRTTH |65Fi
127 | A% F TA# |20FD1  |HPR=TH [26%Fith
128 |#EARE F THHh  [31F/FHD1  |HEPR=TH |28Fith
129 |HEKREF FF TH#M  [33FHD1 REHR=TH [29%Fih
130 |#EARE F THHh  [33FMHD1  |HPR=TH |32Fith
131 |EARE F TAM  |34FBD1  |FEPR=TH [38FHD4
132 |#EARE F THHh  [34FMHD6  |HPRL=TH |35Fith
133|EAE F TA#M |34FHD9  |HEPR=TH [36Fih
134|#EARE F THM  [34FHD10 |HPR=TH |33Fith
135 |#EAEF = THFR [3%FiHM RAR=TH [11&i#
136 AT F THR [4FHO1 RPR=TH [18&FMHD2
137|#EAE = THRE |4FMD?2 RARR=TH [18&#®D2
138 |#EARE F THR [9FMh RPR=TH |15
139 |#EAREF = THRE |9FMD2 RAR=TH [46%iHh
140 |#XE F THR |9FEM®D5 REHPR=TH |11&h
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|B#T{E Pt R =

[BEERT xR
No. (IM)=F £ (FE b | #H F £ o E &
141 |#EXE = THRE |9FEMOD7 RARR=TH [10&H
142 |#XE F THR |9FEM®DI RHPR=TH [9%Fih
143|#EAE F THRE |168B#HhD4  |FEPR=TH [45FHhD4
144 |8#EXE F THR [16FBMHMD5 |HBPR=TH [45FHDS
145 |#EAE F FAHR |27 FMHPR-TH |21%Hh
146 | A% F AR |6BHD1 FPR-TH |[27%Fih
147 |#EKE F FHHER  [8FEMD1 FHPRZTH |24
148 | A% F AR  |8BHD1 FPRZTH |24%HD3
149 | K F FHER  [8FEMID1 BHPR-TH |24FMD2
150 |EAS F mHAR |[15FMD2 |FAHR-TH [10FH#
151 |#EKRE F EHR  |21HFMD4  |FEPR-TH |104FH
152 |# XS F HA 27 dthR—TH [28&HD6
153 |#EAF F HR 2% ih R —TH |2B#OD1
154 |#E X% F AR 2% dthR—TH [28&HD4
155 |# A% F AR 273 thR—TH |25%M®D2
156 |#AE = HFA 3FE thR—TH |47%F
157 |#HEARE F HR IFM D2 thR—TH |30FEM®D5
158 |# A% F AR IFH D3 dthR—TH |47%F
159 |# A% F AR IFHD3I tpR—TH |27%F
160 |#AE == HFA 5 thR—TH |46t
161 |# A% F AR 5 tpR—TH |47FM
162 |# A% = HR 6ZFHh D1 tpR—TH |58&MtD2
163 |# A% F AR 1HEHD1 tpR—TH |58Z&MOD1
164 | AT  HFR 9 ith thR—TH [28&M®D2
165 |# A% F AR 9 ih tpR—TH |55%ith
166 | AT = HFA 9 ih thR—TH [28&M®D3
167 |#HEARE F HR 10% ith tpR—TH |2&M®DT
168 |## K% F AR 1381 |dbpR—TH [4%H#
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|B#T{E Pt R =

[BEERT xR
No. (IM)=F £ (FE b | #H F £ oE &
169 | A% F AR 13BHD 1 tpR—TH |3%#M
170|# X% F AR 13F#D1 | ALPR—TH [8&FEHD2
171 |#EARE F HR 13FHD1 thR—TH |6&FEM®D2
172 |# X% F HR 148MD5 kP R—TH |10FEMOD1
173 |#HEAE F HR 15&HhD1 pR—TH |21
174|# X% F HFR 15&D2  |dbpR—TH [20%ih
175 |# A% F AR 16 H D1 thR—TH |14FEM®D2
176 |#£ X% F AR 168&#MD3 | dLPR—TH [9F#MD2
177 |#EAX% F HR 218 PR -TH |8FEHODI
178 |# X% F HR 23FMN1  |EHRZTH [8BHD2
179 | KRS F Fh At [3FHOD1 RARR=TH [38&FEMOD1
180 |#E AT F EP A |3FHD4 RPR=TH |38&HM®D3
181 | AREF F FAH A [6FHD1 RAR=TH |41
182 |#E KT FF Ep A |7H/HD1 RPR=TH |42%FiHs
183 |#EAF F BiF 1353 R -TH [10Fih
184 |#EAF F IR 1D dthRZTH |10%FEH
185 |EAF F BiF 1& D2 PR -TH |oFEH
186 | AT = HiR 1&EH D3 thR=TH [37FiH
187 |#HEAE F HiR 1 D3 P R—TH |65ZMOD1
188 | AT T HiR 2F D2 dthR—TH |66Z&Fithn2
189 | A% F HiF 9FEH D1 EtPR-TH |16&FMD2
190 |#EAEF F RSt  [1FHOD1 BHRR-TH |110%F#
191 |#EAXE F gisih [1F/HODI FEHRR_-TH |[100&FM#OD1
192 |#AF F pinih  |1FBH#hD4 FEPR-TH [96&FMHhD2
193 | KEF F gyt | 1F/HD5 FAHRR_TH |93%ih
194 KT F gisits  [1F#D14  |FEARTTH |105%Fih
195 |H#EARE F pigh 1B/ DS |FEPR-TH |94FBHOD1
196 |#EKRE F RiaH  [2Fih BAPR-TH |[109FiHh
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
197 |#EXE F pisith  |4FHD6 BRR-TH |101%i#
198 |#EKRE F R [6FiiD2 dkpR—TH |36
199 | KEF F Rieyith  |8FHID1 BAHRR-TH |91&FEHDI
200 KB F piistth  [16F/#hD4  |dbpR—TH |38FD3
201 |EERE? = gisth  [19FHhD1  |dbhR—TH [30FEH#OD]
202 |#EREF F piisth  [19F/H#hD1  |dbeh—TH |53%Fth
203 |HEAREF F giath  [19FH@2 |dbhR—TH |53%ih
204 |#EKRF F gt |19FHD5 dkpR—TH |50
205 | F giath  [19FH#D6 |t R—TH |51%Fi#
206 |#EAREF F piisth  [19FH#hD6  |dbeh—TH |49%Fth
207 |HEKREF F HIAH  |217ih pR—TH |47FM
208 |#EAREF F piisHh  [21F/#hD1  |dbhR—TH |47%th
209 |#EAREF F gia  [21F#D1 |Gt R—TH |57Fi#
210 |#EREF F giisth  [21F/#hD3  |dbp—TH |56%Fth
211 JEEAE = gl |21F DI |k R—TH [45%Fih
212 |#EKRE F gisth  [21FB#hp4  |dbp—TH |44Fth
213 |#EARE F AiAM  [22FiHh thR—TH |63%Fith
214 |EEARE F giath  [23F#hD4  |dFR=TH [32Fi#
215 |#ARE F giath  [23F#D6  |dFR=TH [36FiH
216 |#EAREF F gisth  [25FH#hp1  |dbh—TH |64Fth
207 |1#EARE F LA |3FH DS hR=TH |11
218 |HEAREF = A |3FMDI1 |ILPR=ETH |[22Fih
219 |EEXRE = EAH (6B EHPR=TH |33Fih
220 | REF 5 E/Hh  |10FMhD2 |k R=TH |[39FiH
221 |#EARE FF Lo [10FE#DI0 |dbFR=TH [35FiH
222 |FEAREF F EaH  |12FMh@2 (kP R=TH |64Fih
223 |HEARE F Lo [12F#@12 |dFR=TH |60FiH#
224|1FEARE F /M |12FM@13 |k R=ETH |77F#
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|B#T{E Pt R =

[BEERT R

No. (IM)=F £ (B)FE | 7 F & oE &
225 |HEREF = EA/H  |[12FD15 |dLPR=TH |48%Fih
226 |HEAREF F L84 [12F/H#hD18 |dbhR=TH |46%Fth
227 |EEREF 5 E/H  |12FD18 |dLPR=TH |42Fih
228 |EREF F L /M [12F/H#hD19 |dbpR=TH |42%Fth
229 | KRS = E/H  |[12FhD21 |dLPR=TH |[50%Fih
230 [EEAEF = Eath  [12F#h@23 |t R=TH [54FEH#D2
231 |#EKRE F Eah  [12F#@D23  |dhpR=TH |54FEHDI1
232 |EKRE F EuH  [12FMD38 [P R=TH |61Fih
233 |HEAREF F A |[12FMD39 |ILPR=TH |62Fih
234 |HEREF = EAM  [12FtD41 |ALPR=ETH |76%FiH
235 | KREF = /#1245 |dLPR=TH |[56%Fi
236 |HEARE F Lo [12FHD47 |dHFR=ETH [58FHOD1
237 |HEREF 5 A |12FD48 |dLPR=TH |63%Fih
238 |EREF F L /M [12FH#hD54  |dbhR=TH |45%Fth
239 |HEREF 5 A/  |12FD57 |dLPR=TH |47Fi#
240 |#EREF F L /4 [26F/H#hD1  |dbpR=TH |51%Fth
241 |BEARE 7 EoHh  |26FhD2  |dhhR=TH |55%Fih
242 |#EKRE F EoHh  |26FH#D3  |dFR=TH |79F#D?2
243 |EARE F EaHh  |26Fhp4  |dhhR=TH |78%Fi
244 |EKRE F Lt |26FH#D5  |dkFR=TH |69FEH#D3
245 | KRE F ENHh  |26FM#D5  |dhPR=TH |69FEHRD1
246 |HEARE FF LA [26FHD5 |dFR=ETH |[67FEHOD!
247 |#EKRE F ERHh  |26FM#D5  |dhPR=TH |67FEHRD?2
248 |TEAREF F FAH  |26FMD17 (kP R=TH |[57FiH
249 |HEKREF = E/H  |26FMhD26 |dLPR=TH |73%ih
250 |EREF F E /4 [26BH#hD27 |dbhR=TH |74%Fth
251 |#EARE = fmH S5FEMM21 |k R=TH [17HMHMD?2
252 |#HEARE = fiH SFEM®M22  |IFR=TH [19FH
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
253 |#EAEF = fmH SE/MMD24  |LHR=TH [16FH
254 |#EARE = fiH SFEM®M27  |dEHR=TH |95%Fi
255 | AREF = fiH S5F&EMM34 | R=TH [103%&H
256 | ARE = fiH S/MMDI6 LR R=TH [104%i
257 |#EAE = fmH SE/MMIT | R=TH [105%i
258 |#EAREF = fiH 30 ih thR=TH |95
259 | ARE FF REH [1FEHD2 dthR=TH |89%ih
260 |#EARE F X=H [1HFHHD3 EthR=TH [80FHHMDI
261 |#EARE F XZH [1FEHDS dthR=TH |81%Fih
262 |#HEARE F X=H |[5%&ih EhR=TH |95%it
263 |EARE F X=H |5FEHDI EHPR=TH |96FEMOD1
264 | T%3F F M3 ikH | 1FERDI MHPR—TH |65&FMDI
265 | FEFSF F O3 ESHEH [2F/HhD6 FHPR—TH |65Z&MOD1
266 | TE3F F O iEH |2FRDT MHPR-TH |5%ih
267 | T%<F & O3l [2FHDI0 [P R—TH |66%Fih
268 | T%F & MM [2F#DI3  |BEHFR—TH |[65FH#DI
269 | T%F F Mgl [2F#DI4  |BEFR—TH [65FHMDI
270 | T%F & Ml ggH [2F#DI8  |EFR—TH |[65FH#DI
271 | T8 5 O3 iSH [3FHh FHPR—TH |65Z&MOD1
272 | T%<F = PO 3lasH 3% MPR—TH |65&MHMD2
273 | F8F3F F PO EEME (135 FMHPR-TH |28thd2
274 | T%3F F M3 ikH |18FiHh FHPRZTH 105
275 | T%F & Mgl |21F D2  |[BEFR-TH [14%Fi#
276 | FEF5F & PO ESHE [22F i FPR—TH 717
277 | T8 5 U3 EEH (23 MHPR—TH |70%ih
278 | T8F5F & MU ESH [23F i FHPR—TH |75%ith
279 | F8F & M3 gEH [23F#D3  |FHR—TH [65FH#®D3
280 | T%<F 5 MU ikH |25 M1 [P R—TH |68%Fih
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|B#T{E Pt R =

[BEERT xR
No. (IM)=F £ (FE b | #H F £ oE &
281 | F8F3F F PO @S [34FEMDT7  |RPR-TH [32FiH
282 | T%<F 5 MM ikH |35FEMMDE  |HPR-TH (315
283 | F8fF = M3 gEMA [35F DT |EFR-ZTH [30FEHOD]
284 | T%<F 5 MM iFH |35FEM®MDE  |HPR-TH [30FEH#®D?2
285 | FEF3F F PO @S [39FEMDI  |HRPR_-TH [35FiH
286 | T%3F 5 MOl iEH |39FMD4  |HPR-TH [34FEHODI
287| T8 F ABE  [9FHD1 PR —TH |24Fih
288 | T8 % F ARE [10FEHODS |FHR—TH [41FEH®D2
289 | T85F = ARE 1150 MHPR—TH |45%ih
20| T8 F EESHT  [1FHMD2 FPRETH [17&MHD1
201 | T8F5F F ER5H1  [5H/HDI MHPRIOTH 205
292 | T55F F 8E5H1  |5BHD1 FMPR=TH |2%ifh
293 | T%F = A H 1D FMHPR=TH |2%&i#:
294|T%F & A H 1&EHRDT FHPROTH |13%ih
295 | T%<F == A H 15BHD 1 FHROTH |262MD3
296 | T & A H 178 D1  |FPRETH (297
297 | T%F == A H 19D 1 FHROTH |30
298 | T%<F = A H 21FMD1  |FPRMETH [33FMHMD3
299 | T8 &+ B H 24 ih FHRRIOTH |34%Fih
300 | T 3F = iR 2% FHPROTH |38t
301 | TEHF F &N 1FEHI DI FHRROTH 477
02| THF F XN 1FEHR DI BHRRETH |3FMDI
03| TEF F XN 5 BAHRRATH |77
304 | T8 F iEN 135 it BHRRETH |5%&iH
305 | FEF5F 7 R |1/ BHRRATH |9Fih
306 | FEF<F ¢ K 2% BHRRETH |11EMODI
07| THF == Xl |3FHD4 BHRRETH |31Fih
08| FEFSF 7 K  [4Fih BHRRETH |12%ih

11/ 21




|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
309 | T8 FF ReH [12FMD1  |FEHRATH [16%FiH
10| TH<F & XeHH  |14Fh BHRR—TH |5%&ih
3| TFHF = XA  [15F#HD2  |FAHR—TH [12BH#OD]
12| T%=F F Rl |15FMDE6  |FAPR—TH [11Fi#H
| TEHF F RH [17FMDT  |FEHRATH [19%Fi#
14| T8 F sBIKH [1HBHDI FAPR—TH |48%ih
315 | TH<F F BIKH |[1BHD1 FRR—TH |77
316 | FEFF 5 sEIKH  [5%Fith APR—TH |61F&Fih
17| T8 F HIKH |6 BEHR-TH |18%Hh
8| THF F M/ AH [1FEHHD2 FMHPR=TH |32Z&MOD1
J|THF F M/ AH [11FE DI |FHHR=TH [35FiH
320 | TE3F F A/ KH |7FEHRDI FMHPR=TH |27&M®D2
21 |THFE F /KA [14FB#D1 |[EHR=TH [271&H#DI1
22| T%HF F /KM |20FMD1  |FHFR=TH |[29Fi#
323|T%F F 885 125 FAHRR=TH |[12&HDI
3| THF FES 2% ih FPR=TH [11&FHD2
325 | T%5F F 885 5 FHROTH |20
326 | THF F 85 10% b FMPR=TH |15%&H#
Q| THF FES 18 ih FPR=TH [19%ih
38| THF F 85 19%#h FPR=TH |20%Fih
329 | T%F F 885 20 ih FMPR=TH |21%F#h
30| TEHF F AIX 1981 |FHPRZTH |78
BN|THFFHFL [2BHDI MHPR-TH |20%&#hD2
2| THF FHFELE [3FHD2 FPRZTH |22%ith
V| THFFHFALE [3FHD3 MHPR-TH |23%i
U|THFFHFELE [3FHDS FMPR=TH |33FHDI
3B |THF FEEMA [6B/MHMD2 FMHPR-TH |37FM
336 | TEF F RS [7FEMDI0  |FHRZTH [39FH
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
JBINTHIFFEERA |[17&FD1 |[EHRZTH [35FH#D3
338 | T8 F F kit [3FHD4 BHRR-TH |37
33 | THF F HIHE [5BHDI BEHR-TH |60%Fith
340 | TH<F F KinHE |5FEHDI FAPR-TH 615
34 | T8 = i E (105! BAHRR-ZTH |114%h
342 | T8 <F = kit E [10%Hh FAHRRZTH |113%H#
343 | TEF F EK 2% ih FBEHR-TH |57%H
344 | T8 5F °F BB 3F i FAPR_TH |56%ih
345 | TE3F F K 5 FBEHR-TH |48%ih
346 | TEF5F °F BB 5 ih FAPR_TH |50%ih
47| TEHF F B 5 BEHR-TH |41%H
348 | TEF5F °F BB S5&EM D2 FAPR_TH |53%Fih
349 | TEHF F K 5FEHD2 BHRR=TH |23&F#HD3
350 | FEF5F °F BB 1 H D2 FAPRR-TH |43%Fi
351 | TEF F B 1EH DA FBEHR-TH |44%FHh
352 | TEF5F °F BEK 8 D1 FAPR-TH 467
353 | T8 F EX 9FE D1 FAHRR_TH |67%Fih
354 | T 5F °F BEK IFE D5 FAPR_TH |66%ih
355 | F 5 F BEX 9EH D6 FAHRR_TH |68%ith
356 | FEF5F °F BB 10&H D5 FAHRRTZTH |87&MOD1
357 | TEHF F B 102&MD7  |FAPR-TH |[80FiHs
358 | FEFF °F BB 10&FH D9 BAHRRZTH |768MD2
359 | T8 F X 10&E#MDI0 |FAFRZTH |74F#D?2
360 | TE5F F B 10&HD13  |FAPRTTH (88D
361 | TEF F B 10Z&MD16 |FAPR-TH |85%Fis
362 | THF F B 10818 |FAPRTTH (863D
363 | TEF F K 10219 |FAPRTH |89FMD2
364 | TEF F B 108t D27 |FAPRZTH [738MHD1
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
365 | TE<F F K 102028 |FAHPR-TH |69FiHs
366 | T F B 10&# D29 |FAPR=ZTH [70%Fih
367 | TEF F B 102MD32 |FAPRTTH |[82%ih
368 | TH5F F B 10&# D33 |FAPR=ZTH [81%Fih
369 | TEF F K 10ZMD34 |FAPR-TH |83%Fih
370| THF F B 10&D35  |FAPRTTH (841
M| TEHF F B 10&FMD36  |FAPR-TH [79FMOD1
72| T%=F =F mycH |1FEHD6 FBHRRTZTH 727
73| TEHF F mycH [1FEMDIT  |FEHARZTH |38
74| THF F myH [1FEMMDI3  |FEHPRZTH |[37FiHM
75| T%=F F mycH |[1FEHMDI3  |FBEPR-TH |[36Fi
376 | T¥<F = MmIyvH  |3FHDI FRRZTEH |77&#0D2
77| T F myH  |3FEHD1 BAHRR_TH |78Z&#D1
78| TH<F F T |3IFEHDG6 EthR=TH [3FM®D2
39| TEH F THAH |4FHDI BHRR=TH |26&H#D10
80| THF = T |[4FMDI0O |FEHPR=TH [26F#D6
381 | TEHF F THHMH |4FHD BAHRR=TH |26%&M®D8
32| THF = T |[4FMDI2 |FEHPR=ZTH [26FE#mD7
383 | THF<F F THM |6FiHtiD4 BAHRR=TH |35t
84| TEF F RAM |1FHDS FAPR=TH |47FH
385 | TEr<F F A |1FEMDI0  |FBPR=TH [45Fih
386 | TEF<F F WA |[1FEHD FAPR=TH |52%ih
387 | TH<F F A |3BHD1 FHHRR=TH |34%Fih
388 | TE<F FF RAM |3FH®D2 FAPR=TH |43&FH#D2
389 | THF<F FF WA |43 FHHRR=TH |49%ih
390 | T8 F HAH |45 FEHRR=TH |[44Fih
391 | FEFSF 7 A  [6Fih FHRR=TH |33%Fih
392 | THF 77 WA |6&FHD4 P R=TH [8&FH#M®D2
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
93| FTHfE F HAH  [6F/HDI0  |FAHR=TH [72FH#®D3
394|T8HF F IRHNE [5Fih FBEPR=TH |[77&ih
35 | THFE F IRNE  |6FEMMMDI0O  |FAFR=TH |[73FEHDI
396 | FHr<F F IR |13&MD5 |FEAR=TH |87FHh
97| F8HF FIRAE [13FMD6  |FEHR=TH [86%ih
398 | T8 7 IR [15% i BHRR=TH |60&it
399 | T¥55F F HIHE 1E/MPD13  |dehR=TH |108%Fih
400 | T8 5F = MG 1816 |dLPR=TH |113&iHs
401 | T 5F F HI4E 1&EMD17 | IEPR=ETH [112F3#M
402 | T 5F F MG 18/MD18 (AL R=TH |111&Hs
403 | T 5F F HIHE 1822 |dLpR=TH |1067&is
404 | T F MG 1823 |dLPR=TH |107&iHs
405 | T F F KA 4% i BHRR=TH |58&H#DI
406 | T F R 27% Hh BHRR=TH |88&MD2
407 | THF F KA 34 FBEHRR=TH |84FEMHOD1
408 | TE5F F R 37&E Hh BHRR=TH |81t
409 | THF F KA 38 ih BHRR=TH |80FH#®DI
410| F5=F & J\H T BHRR=TH |18t
AN | TEHF F NH 3FH D4 BHRR=TH |13%ih
412 | T%F = J\H 3FDI0  |FEHR=TH [15%&i
413 | TH=F = JNH 3J/MMDI12 |FEHR=TH [8%&h
414| 5= & \H 10&tD1  |FAPR=TH [54%ih
415 | TE5F = JNH EMMDI12 |FAPR=TH [105&#M
416 | TE<F & J\H 14BthD3  |FAPR=TH [55%&i
AT |THF FEESAE [1HH# FEHRRIGTH |33%Fih
418 | T35 F BEEHE [2HMHD3 FBHRROTH |67&FMD2
419|TH5 F BEEHE [3FMHD3 FEHRRIGTH |29%#hD2
420 | TH5F F BEHE [3FMD3 BHRROTH |27&MD2
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|B#T{E Pt R =

[BEERT xR

No. (IM)=F £ (B)FE | 7 F & oE &
A2 |THF FEERE 3FEMOI0  |FEHPRIOTH |20%FH#
422 |85 F BEHE 3FEMO11 |FBEARRUTEH [22%ih
43| THF FEEGRE 3FEMDI2  |FEHPRGTH |21FH#
424|THF F BEEHE [3FMDI5S  |FBEARRUTH |78
425 | T F BEFGE 3FEMD17  |FERRUTHE [31FEH
426 | THF F BEHE [3FHDI18 [P RMETH [26FH#D2
427 | THF FEEGRE 3FEMD31 |FEHPROTH |18%FH#
428 | T35 F BEEHE [3FMD32  |FEARRUTEH [17%Fi#
A9 |THF FBEEGHE 3FMDI5  |FHhRMTH |23FHDI
430 | THF FEEGTE 3BHD37  |FHHRETH |28FHD1
31| THF F EEFHE [9FHD1 FERROMTH |68FMD2
432 | THF F BEEHE [115F# FEHRROTH |70%ih
ABB|THF FEEGHE 13F#@2  |AHRETH |73FH#hD1
34| THF FEEGE 18F#MDI  |FHHRMTH |83FHDI
4B | THF FBEGHE [19F#@2  |FHhRMTH |84Fih
436 | THF F BEGHE [20F#D1  |FBEhRETH |85FHDI
WTHEFFEERE |21%F# FEHRRIGTH |89%ih
438 | THF F X5 1&thpO APR—TH |31Fih
439 | TEHF F XF 1EHD1 AHRR—TH |32%ih
40| THF & X5 1D FAPR—TH |28%ih
441 | THF F XFE 1FEH DI BAHRR—TH |29%ith
442 | T8HF F AFE 3FEM D5 FEPR—TH [26%&HD3
443 | THF F XFE IFEHD5 BAHRR—TH |25%MD2
44| T8HF F AFE IFEM DT FEPR—TH [25%FHhD2
445 | T8 F F XFH 4T D1 BAHRR—TH |27%
446 | T8 F F AFE 5EH D1 FEPR—TH [26%&HD3
447 | THF F XFE 8FEH D3 FBERRETH |32%ith
M| THE = XF 8E D6 APRR—TH |[115&H
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|B#T{E Pt R =

[BEERT xR
No. (IM)=F £ (B)FE | 7 F & oE &
449 | THF F XFH 10Z&MD1 |FAPRIOTH |[14FHD4
40| THF F LB 1D BAHRR—TH |268&H#hD4
B THEFF LS 1 D1 BAHRR—TH |26
42| THFF LB 1R DI BHRR—TH 715
43| THFF LS 1 D3 BAHRR—TH |72Z&MO1
44| THF F LB 1FE# D5 BHRR—TH |74%h
455 | FTHFF LS 2B D1 BAHRR-TH 297
456 | THF F L& 2FE D2 FBHRRTZTH 278
41| THFF LS 5EHD BHRR=TH |3&#®DI
458 | THF F LB NMEMDT |FBAPR=TH |6&H
49| THFF LS 132D |APR=TH |17&EMOD1
460| THF F LB 1381 |FAPR=TH |[165H
461 | THFF LS 13%/D2  |APR=TH |[7&FH
462 | TEH<F & THE |[1FHDOA FAPR-TH 208
463 | % = THHE [1FHOO BAHRR—TH |53%ith
464 | TEHF = THH | 1F/HHD1 FAPR—TH |64Fih
465 | T &F TEHE [1H/HD5 BAHRR—TH |65%&MD2
466 | TE<F 7 TEFHT 3% s FAPR—TH |56%&ih
467 | TEF F TEHHE |6 FBEHR-TH |52%ih
468 | TE<F &7 TEHT  |6Fih FAPR_TH |55%ih
469 | TE<F F TEHT  |11%# BAHRR—TH |67%ith
470| TEH<F & TEHHE  |12Z&F D1 FAPR—TH |69%ih
ATV |TEHF F THE  |[12F#@2 |FHhR—TH |70FH#
472 | T & TEHHE  |13&F D1 FAPR-TH 268
AT3|TEHF F TEHHE  |[13FH#D4  |FHEHhR_TH |33FH
474 | T5HF & THE  |13FHD7 FAPR—TH |68%&ih
AT5 | TEF F TEHHE  [13FEHDI0 |FHHhR-TH |24Fih
476 | T3 F imgEF  [1H/HD1 FAPRR—TH |47FH
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
477 | TH5F 7 =fFE 3% FAHRR—TH |42%ih
478 | TH5F FF imgEE |3 ih BARR—TH |41FHD1
479 | THFF FmlF  [4AFHD U FAHRR—TH |34%Fih
480 | TH=F F i=#F |4FEMD15  |FBEPR—TH |40%FiHs
481 |THF FimfiE  |4FM017  |FEHPR—TH |37FH
482 | T3 F imfFE  |4FHp18  |FEPR—TH |36%Fih
483 | TEHF F =HFE |64 BAHRR—TH |58%ith
484 | TH 5 F imgEF  [6F/HD5 FAPR—TH |54%Fih
485 | FEF5F FF mliE |67 BAHRR—TH |57%i
486 | TH5F FFimgEE |7 FAPR—TH |52%ih
487 | TEHF F =lF  [8BHDI BAHRR—TH |12%&MD2
488 | T35 F HEZ  [1F/HDS BAPR—TH |14%iHh
49| THF FHESH N1FMOU1  |FEPR—TH |18FH
40| THF F HhEH  [2FHMD1 BAHR—TH |23%&MD2
PITHFFHEH [2HBHHD1 BAHRR—TH |23%ith
492 | THF F HEH  [2FHMDS APR—TH |21FiHh
493 | THF F hESH [4FBHD3 BAHR—TH |22%ih
494 | THF F hESH  [8Fih FARRIOTH |6&MD2
495 | THF F hES  [115EH# FERRIGTH |47
496 | T F 5H 9 ih BHRRETH |41FEMOD1
497 | T¥HF F S5 H 19783 BAHRRATH |43%ih
498 | T F 5H 21 % Hh BHRRETH |45%ih
499 | THF = SHAT [1H/HHD1 BHRRATH |22%#D2
500 | T%<F & S HAT |6Fih FAPRATH |24FiHh
501 | F¥F5F = S HET  [158Hh BHRRATH |29%#D1
502 | F8FF = SHAET 157 BEHRRATH |30FHDI
503 | TE<F F A 1025 BHRRATH |40FHDI
504|T%HF F _kHE |12FMD1  |FEPRFETH |58%Fi
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
505 | FE8FsF = — /R [12FMD1  |FEHARFETH |[57FEMO!
506 | F%F F — KA |12FBD1  |FARRFETH |57FH#D2
507|THF F —RH |12FHD6 FAHRRATH |56Z&E#D1
508 | T¥F<F F —/RH |13FMDI |EHPRATH |[77FM
509 | THF F —RH |13&FMM®DS FBHRRATH |76%iH
S510|THFF —RH |[13&MD6 |FEHRATH |[69Fi:
SUITEHFF _kE |[13FMO7 |BEPRFETH |66%Fi
S512|THFF —kRH |[13FMDI0 |FBHRATH |[70Fi
S513|THF F —kMA [15%FMDT  |FBEHARFETH |61F#
514| T8 = L[ 6|/MDI0  |FERRIOTH |458Hh
515 | TE<F = Tl 6F/MDI1  |FEHRIOTH |48
516 | F8F<F = iL[A 6|/MDI3  |FERRIOTH |52
S517|TEHF = Il 1521 |[FAPROTH |94FMD2
518 | T8 F = LA 15%/D1  |FAPRETEH (947
S519|TEHF = Tl 16/D5  |FAPRMETE (987
520 | T8 <F = iL[A 16/thD7  |FAPRETH (957
521 | TEF = Tl 187 D4 |FAHPRATH |54FMDS
522 | T%<F = T 21 % Hh BHRRETH |52t
523 | TEF = Tl 22FMDT  |FEHRATH |515FHM
524|TEHF F RiE 10Z i MHPR—TH [19%#DI
525 | T ¥ 5F F RiE 22F/MD7  |FHRR—TH |33Fih
526 | T8 5F & RIEAT  [5BHD2 FHPROTH |47
527 | T%F == RIERT  |6FHD1 FAPROTH |2%ih
528 | T%<F & RIERT [10&FMD1  |FAPRIOTH [8FE#D2
52| T%F = RiERT  [10&#hD5  |EHRETH [5FH
530 | T%F = RiERT  |[10FH#hde  |EhRMTH |[7Fi
531 | T8 &= RIERT  [115#h MAPRIGTH 9%
532 | T% < = dLH 8EMMDI16  |FEHPRMTHE [103FM®DI
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|B#T{E Pt R =

[BEERT xR

No. (IM)=F £ (B)FE | 7 F & oE &
533 | T%<F = dLH 8FEMMI19  |FEHPRMETH |[103FHMDI
534 | T%<F = dLH 18|hN2  |FAPRMTHE |1088%iHs
535 | T%<F = dLH 187 MiD11  |FAPRIOTH |[107FM
536 | T¥<F = dLH 18/thD14 |FAPRMTHE |105%H
537 | T%5F = dLH 20&MD1  |FEHRPATH |90FH
538 | THF FF AR |6FHD4 FHPR—TH |35t
539 | THF F HAN |7HEHDI BHPR—TH |34FMD2
540 | TEF 7 AAMN |8FHDI FHPR—TH |39%ith
541 | FTEHE F HANL  [8FBHD6 MHPR—TH |38%ith
542 | THHF = AR  |8FEMMDI0O  |[FHR—TH |[40%Fih
543 | F8F F AW [12F#D1  |FHR—TH [47F#
544 | T%F F HAN |13FMDI [P R—TH [49FiH
545 | F8F3F FF HAM [13FEM®DI3 |FHFR—TH |50FiH
546 | T%3F = AN |18FMD1 [P R—TH |[59%FiH
547 | F8F F AWM  [18FM®DI  |FHR—TH |60FiH
548 | T%3F F AN |20FMD1 [P R—TH |[63Fih
549 | T8SF = AW [20FMDS  |FHR—TH |62%FiHh
550 | F%3F 5 A |20FMD6 [P R—TH |[61FiH
551 | F8<F F G H 13 #h D4 FERRIMTH |41%iHh
552 | T8 F == 1 H 1819 |FAPRETH (407
553 | T%<F = HHH IFEHD5 FBEHRRIGTH |38F#D2
554 | T8 F == HH I|/UMDI0  |FEHRIOTH |59FMOD1
555 | TE<F ¢ HHH 3FEMDI1  |FEPRMUTH |[51H/MDI
556 | TE5F & M 3FEMMDI12  |FHHPRIOTH [60FMD1
557 | T%5F = HH JJ/MMDI3  |FEHRIOTH |50%FH
558 | F¥F5F &= HH 3|/ D14  |FERRIOTH |47FH
559 | T%5F = HH JJ/MDIS  |FEHRIOTH [43FHh
560 | T8 == HH I|/UMD17  |FERRIOTH |42
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|B#T{E Pt R =

[BEERT R
No. (IM)=F £ (B)FE | 7 F & oE &
561 | T%<F = M JJ/MD18  |FEHRIOTH |36
562 | F8F5F == HH 3|/MDI19  |FERRIMTH |37FM
563 | TE<F ¢ HHH 3J/UMD20 |FEHRIOTH |64%FHh
564 | T¥<F F HH 3FHh D21 FERRMNTH |63&F#D2
565 | TE<F ¢ HH 3FEMM22 |FEHPRMUTH |[66&FHmdD2
566 | FEFSF == HHH 3|/MMD23  |FEHRIEMTH |61FH
567 | T%<F = HHH 5FEHDI FERRIGTH 9%
568 | F¥F5F == HH 8FEH D5 FEHRROTH |65t
569 | TE<F = HHH 9FEH DI FEHRRIGTH |58%Fih
570 | T8 <F = 1 H 9FEH D8 FAHRROMTH |56
571 | T%<F = HH 9OFMMDI0 |FEHRPOTH |56%FH
572 | T8 F = 1 H 10Z i FERROTH |92Z&MOD1
573 | F83F == 1 H 10&FHD9  |FAPRETH (563
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